CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE THE WOODLANDS HILLS SECTION 43 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS

JULY 2, 2024 LJA ENGINEERING, INC. A.CAROTHERS JULY 3, 2024

0474-0243 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE BID NO. 1 ITEMS	BID INCLUDING ALTERNATE BID NO. 2 ITEMS	BID INCLUDING AL NATE P' 3 ITE
1) BLAZEY CONSTRUCTION SERVICES LLC	\$979,477.26	\$979,477.26	\$979,477.26	\$
2) MTEX CONSTRUCTION, LLC	\$1,000,538.10	\$1,536,760.14	\$1,250,691.0	\$899,353.40
3) PRINCIPAL SERVICES, LTD	\$1,075,810.82	\$1,636,627.82	.,269, 1.35	\$986,180.12
4) CE BARKER LTD.	\$1,084,163.32	\$1,564,212.27	1 ^ 52.53	\$1,004,118.14
5) R CONSTRUCTION CIVIL, LLC	\$1,179,584.70	\$1,717,497.95	\$ 53,212.30	\$1,045,384.00

CALENDAR DAYS 20/20

I, Micah Kr. mier, PE, hereb pertif ese bid tabulations to be true and correct.



BID TABULATION FOR:			CONSTRUCTION OF THE TO SERVE THE WOODLA MONTGOMERY COUNTY	NDS HILLS SECTION 43		ILITIES & PAVING AND APPU	JRTENANCES		
BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.			CITY OF WILLIS, MONTGO JULY 2, 2024 LJA ENGINEERING, INC. A.CAROTHERS JULY 3, 2024 0474-0243 (9.2)	OMERY COUNTY, TEXAS				MO.	
			1) BLAZEY CONSTRUCT	ION SERVICES LLC	2) MTEX CONSTRU	JCTION, LLC	3) PRINCIPAL	RVIC LTD	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
DIVISION I – WATER DISTRIBUTION SYSTEM									
1 16-INCH P.V.C. WATER LINE, C-900, DR 18, CLASS 235, INCLUDES ALL DEPTHS, FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1275	\$92.00	\$117,300.00	\$89.00	\$113, .00	100.00	\$127,500.00	
2 12-INCH P.V.C. WATER LINE, C-900, DR 18, CLASS 235, INCLUDES ALL DEPTHS, FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1054	\$57.00	\$60,078.00	\$70.C	1,780	\$72.00	\$75,888.00	
3 FIRE HYDRANT UNIT ALL DEPTHS (INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE AND BOX, AND LEAD PIPE), COMPLETE IN PLACE	EA	4	\$7,739.00	\$30,956.00	\$6,4 0	\$2. J8.00	\$7,106.00	\$28,424.00	
4 16" AWWA BUTTERFLY VALVE & BOX, COMPLETE IN PLACE	EA	7	\$4,615.00	\$32.2	\$6,750.00	\$47,250.00	\$7,282.00	\$50,974.00	
5 12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	9	\$3,507.00	1,563.00	\$3, აა.00	\$34,965.00	\$3,814.00	\$34,326.00	
6 TRENCH SAFETY SYSTEM, ALL DEPTHS (INCLUDES ALL LATERAL LEADS), COMPLETE IN PLACE	LF	2329	\$0.30	J.70	\$0.10	\$232.90	\$0.10	\$232.90	
7 SHORT SIDE DOUBLE OR SINGLE SERVICE, INCLUDES, METER BOX, CURB STOP AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	9	910.\	\$8,1、 JU	\$975.00	\$8,775.00	\$1,226.00	\$11,034.00	
8 LONG SIDE DOUBLE OR SINGLE SERVICE, INCLUDES, METER BOX, CURB STOP AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	1	1, 10	\$21,042.00	\$1,545.00	\$27,810.00	\$1,914.00	\$34,452.00	
9 WET CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA		\$1,300.00	\$1,300.00	\$865.00	\$865.00	\$952.00	\$952.00	
10 2" AUTOMATIC AIR RELEASE VALVE ASSEMBLY FOR 12" WATER I 'NE., COMPLETE IN PLACE	4	3	\$4,820.00	\$14,460.00	\$2,750.00	\$8,250.00	\$1,784.00	\$5,352.00	
11 16" PLUG & CLAMP WITH 2" BLOW -OFF VALVE & BOX A MBLY, ^ MPLE 'N PLACE	Er.	1	\$1,362.00	\$1,362.00	\$1,500.00	\$1,500.00	\$1,414.00	\$1,414.00	
DIVISION I – WATER DISTRIBUTION SYSTEM TOTAL:				\$319,254.70		\$342,610.90		\$370,548.90	
DIVISION II – ONSITE SANITARY SEWER COL C. SYSTEM									
1 STANDARD PRECAST 4' DIA. TER SAI APY 3' MANHOLE, (0' – 8' DEPTH), INCLUDES PROTECTIVE INTE. R COA AND A. USTMENTS, COMPLETE IN PLACE	EA	11	\$3,380.00	\$37,180.00	\$3,485.00	\$38,335.00	\$4,032.00	\$44,352.00	
2 STANDA PRECAST 5' DIAMETE ANT ARY SEWER MANHOLE, (0' – 10' DEPTH), INCLUDES OTECTIVE IN OATING AND ADJUSTMENTS, COMPLETE IN PLACE	EA	8	\$5,591.00	\$44,728.00	\$5,295.00	\$42,360.00	\$5,442.00	\$43,536.00	
3 EXTRA VERTIC H FOR 5' DIAMETER SANITARY SEWER MANHOLE (OVER 10' DEPTH), COLLETE IN PLACE	VF	48.47	\$505.00	\$24,477.35	\$360.00	\$17,449.20	\$600.00	\$29,082.00	
4 EXTRA VERTICAL DEPTH FOR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	5.58	\$247.00	\$1,378.26	\$295.00	\$1,646.10	\$309.00	\$1,724.22	
5 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0'-8' CUT, INCLUDES CEMENT STABILIZED BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	776	\$32.00	\$24,832.00	\$43.50	\$33,756.00	\$41.00	\$31,816.00	
6 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8'-12' CUT, INCLUDES CEMENT STABILIZED BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	367	\$35.00	\$12,845.00	\$45.00	\$16,515.00	\$43.00	\$15,781.00	
7 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12'-16' CUT, INCLUDES CEMENT STABILIZED BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	412	\$42.00	\$17,304.00	\$47.00	\$19,364.00	\$48.00	\$19,776.00	
8 8" PVC SEWER PIPE, ASTM D-3034, SDR 26 16'-20' CUT, INCLUDES CEMENT STABILIZED BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	195	\$61.00	\$11,895.00	\$49.00	\$9,555.00	\$60.00	\$11,700.00	

SMALLER, INCLUDES ALL ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE THE WOODLANDS HILLS SECTION 43

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A

CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS

JULY 2, 2024

LJA ENGINEERING, INC.

A.CAROTHERS

				1) BLAZEY CONSTRUCTION SERVICES LLC		2) MTEX CONST	RUCTION, LLC	3) PRINCIPAL	3) PRINCIPAL RVIC LTD		
ITEN	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST		
9	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 20'-24' CUT, INCLUDES CEMENT STABILIZED BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	54	\$89.00	\$4,806.00	\$54.00	\$2,9	\$106.00	\$5,724.00		
10	LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD ASTM D-3034, SDR 26 ALL DEPTHS, INCLUDES PIPE, CEMENT STABILIZED SAND AND BACKFILL, RISER, WYE, PLUG, MARKER, CLEANOUT, AND ANY NECESSARY FITTINGS, COMPLETE IN PLACE	LF	359	\$57.00	\$20,463.00	\$48.00	17,2 10	53.00	\$19,027.00		
11	SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, ALL DEPTHS, INCLUDES PIPE, CEMENT STABILIZED SAND AND BACKFILL, RISER, WYE, PLUG, MARKER, CLEAN OUT AND ANY NECESSARY FITTINGS, COMPLETE IN PLACE	EA	21	\$1,376.00	\$28,896.00	\$1,64	\$34,545.00	\$2,012.00	\$42,252.00		
12	TRENCH SAFETY SYSTEM, ALL DEPTHS, (INCLUDES LATERAL LEADS), COMPLETE IN PLACE	LF	2163	\$0.30	\$648 ^	\$1.00	\$2,163.00	\$0.10	\$216.30		
13	VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1000	\$,	\$2 7.00	\$0.01	\$10.00	\$2.00	\$2,000.00		
14	4" PVC FORCE MAIN, C-900, DR 14, CLASS 305, RESTRAINED JOINT PIPE, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL ALL DEPTHS, COMPLETE IN PLACE	LF	831	¹ 6.00	,,606.00	\$28.00	\$23,268.00	\$25.00	\$20,775.00		
15	REMOVE AND OFFSITE DISPOSAL OF EXISTING 4" PLUG AND CLAMP AND CONNECT PROPOSED 4" FORCE MAIN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$985.00	\$985.00	\$625.00	\$625.00	\$475.00	\$475.00		
16	STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA		\$948.00	\$948.00	\$785.00	\$785.00	\$794.00	\$794.00		
DIVIS	SION II – ONSITE SANITARY SEWER COLLECTION SYSTEM C JTAL:				\$255,742.51		\$260,524.30		\$289,030.52		
DIVI	SION III - OFFSITE SANITARY SEWER COLLECTION SYSTE.										
1	STANDARD PRECAST 5' DIAMETER OFFSITE SANITARY SEL MANHOL F (0' J' DEPTH), INCLUDES PROTECTIVE INTER R COATING AND AL COMPLETE IN PLACE	EA	7	\$5,700.00	\$39,900.00	\$5,295.00	\$37,065.00	\$5,423.00	\$37,961.00		
2	EXTRA VERTICAL DEPTH F 5' DIAME R SA RY SEWER MANHOLE (OVER 10' DEPTH), COMPLETE IN PL 5	VF	45.59	\$505.00	\$23,022.95	\$360.00	\$16,412.40	\$600.00	\$27,354.00		
3	8"PVC SEWER PIPE, ASTM D-30 SDR 12'-16' CUT, INCLUDES CEMENT STABIL!" \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	LF	436	\$42.00	\$18,312.00	\$47.00	\$20,492.00	\$48.00	\$20,928.00		
4	8"PVC SEV PIPE, ASTM SDR 26, 20"-24" CUT, INCLUDES CEMENT STABILIZED DING AN" BACKFILL, COMPLETE IN PLACE	LF	277	\$88.00	\$24,376.00	\$54.00	\$14,958.00	\$105.00	\$29,085.00		
5	TRENCH SAFE JEM FOR OFFSITE SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	713	\$0.30	\$213.90	\$1.00	\$713.00	\$0.10	\$71.30		
6	REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$767.00	\$767.00	\$365.00	\$365.00	\$128.00	\$128.00		
7	STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$746.00	\$746.00	\$785.00	\$785.00	\$794.00	\$794.00		
DIVIS	SION III - OFFSITE SANITARY SEWER COLLECTION SYSTEM SUBTOTAL:				\$107,337.85		\$90,790.40		\$116,321.30		
DIVIS	SION IV – DRAINAGE FACILITIES										
1	REINFORCED CONCRETE TYPE "C" MANHOLE, FOR 42" STORM SEWER AND	EA	13	\$3,098.00	\$40,274.00	\$3,450.00	\$44,850.00	\$3,062.00	\$39,806.00		

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES

TO SERVE THE WOODLANDS HILLS SECTION 43

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A

CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS

JULY 2, 2024

LJA ENGINEERING, INC.

A.CAROTHERS

LUA GOD NO.				474 0240 (0.2)					
				1) BLAZEY CONSTRUC		2) MTEX CONST			RVIC LTD
ITEM DI	ESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TO INC COST
2 24" RCP STORM SEWER, ASTM C-76 BACKFILL, ALL DEPTHS, COMPLETE		LF	1230	\$82.00	\$100,860.00	\$88.00	\$108,2 J	\$97.00	\$119,310.00
3 30" RCP STORM SEWER, ASTM C-76 BACKFILL, ALL DEPTHS, COMPLETE		LF	81	\$103.00	\$8,343.00	\$109.00	\$8,ఓ 70	\$ 20.00	\$9,720.00
	CONCRETE TYPE 'C' INLET (5' MINIMUM INSIDE CTION BARRIER FOR STAGE I INLET, ALL	EA	5	\$2,437.00	\$12,185.00	\$ 1.00	90.00	\$1,478.00	\$7,390.00
	CONCRETE TYPE 'C' INLET (5' MINIMUM INSIDE CTION BARRIER FOR STAGE I INLET, ALL	EA	5	\$1,780.00	\$8,900 0	\$2,450.L	\$12,250.00	\$2,174.00	\$10,870.00
	CONCRETE TYPE 'C-1' INLET (10' MINIMUM PROTECTION BARRIER FOR STAGE I INLET,	EA	2	\$2,437.00	° .0	\$1,800.00	\$3,600.00	\$1,537.00	\$3,074.00
	CONCRETE TYPE 'C-1' INLET (10' MINIMUM PROTECTION BARRIER FOR STAGE I INLET,	EA	2	109.0	¢4,2°i00	\$3,275.00	\$6,550.00	\$2,635.00	\$5,270.00
8 REINFORCED CONCRETE TYPE "C' IN SMALLER WITH REINFORCED CONC INCLUDES ADJUSTMENTS, ALL DEP	RETE TYPE "E' TOP, ONE SIDE OPEN,	EA	2	\$c,	\$6,680.00	\$4,300.00	\$8,600.00	\$3,718.00	\$7,436.00
		LF	Zì.	\$2.75	\$596.75	\$11.00	\$2,387.00	\$3.00	\$651.00
10 OUTFALL SLOPE PROTECTION NO. SLOPE PAVING, TOE WALLS, 18" THI FABRIC, COMPLETE IN PLACE			2	\$7,308.00	\$14,616.00	\$4,450.00	\$8,900.00	\$7,275.00	\$14,550.00
11 EXCAVATION AND GRADING OF OUT BOTTOM, (ALL DEPTHS), INCLUDES STOCKPILING STRIPPINGS, P'ACEM PROCTOR DENSITY, WITH MUM STRIPPINGS, COMPLETE IN 1 DE	H/ OF SPOIL MATE: RIPPING, IEI AN. MPATION TO 9 1/6 STANDARD	LF	28	\$2.75	\$77.00	\$11.00	\$308.00	\$7.00	\$196.00
12 TRENCH SAFETY SYSTEM, ALL .	THS. DMPLETE IN PLACE	LF	1311	\$0.30	\$393.30	\$1.00	\$1,311.00	\$0.10	\$131.10
13 STORM V. FR POLLUTION PRO- GENERAL PROFESSION PROFESSION PROPOSE COMPLETE IN PLACE	ALL ITEMS NOT SPECIFICALLY LISTED IN THE	LS	1	\$1,509.00	\$1,509.00	\$2,500.00	\$2,500.00	\$500.00	\$500.00
14 REMOVE AND COMPLETE IN PLACE	F EXISTING 24" STORM SEWER, ALL DEPTHS,	LF	121	\$18.00	\$2,178.00	\$22.00	\$2,662.00	\$32.00	\$3,872.00
	ER MANHOLE AND CONNECT PROPOSED 24* ENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$411.00	\$411.00	\$1,285.00	\$1,285.00	\$333.00	\$333.00
DIVISION IV – DRAINAGE FACILITIES SUBT	OTAL:				\$206,115.05		\$221,272.00		\$223,109.10
DIVISION V - MISCELLANEOUS ITEMS					,		•		•
WET SAND CONSTRUCTION (AS PER WRITTEN DIRECTION OF THE OWNER		LF	1000	\$15.00	\$15,000.00	\$10.00	\$10,000.00	\$10.00	\$10,000.00
2 DEWATERING (TO BE USED ONLY A' COMPLETE IN PLACE	T THE WRITTEN DIRECTION OF THE OWNER),	LF	1000	\$40.00	\$40,000.00	\$40.00	\$40,000.00	\$40.00	\$40,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES

TO SERVE THE WOODLANDS HILLS SECTION 43

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS

JULY 2, 2024

LJA ENGINEERING, INC.

A.CAROTHERS

ENACE NO.			4) DI AZEV CONCEDITO	TION CERVICES II O	O) MITTY CONCIDE	LICTION II C	a) PRINCIPA	DVV LTD
TEM DESCRIPTION		OT/	1) BLAZEY CONSTRUCT		2) MTEX CONSTRI			RVIC LTD
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
3 EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$8,000.00	\$8,000.00	\$4,000.00	\$4,0	\$4,000.00	\$4,000.00
4 BLOCK SODDING, PER SECTION 12 SPECIFICATION (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	SF	500	\$0.44	\$220.00	\$0.30	\$.00	\$1.00	\$500.00
5 BROADCAST SEEDING OF RESERVES, COMPLETE IN PLACE	AC	3	\$878.00	\$2,634.00	.¢^50.0\	350.c	\$500.00	\$1,500.00
6 STRIPPING MINIMUM OF 4-INCHES OF SURFACE MATERIAL AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$1,097.00	\$1,097.00	\$1,. 70	7.00	\$500.00	\$500.00
7 INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THI DEVELOPMENT (AT WRITTEN DIRECTION BY THE OWNER), COMPLETE IN PLACE		1	\$6,000.00	\$6,000 1	\$6,000.	\$6,000.00	\$6,000.00	\$6,000.00
8 HAUL UTILITY SPOILS TO ONSITE DESIGNATED STOCKPILE SITE, USING OFF ROAD TRUCKS, (0 - 0.5 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS TO FINAL GRADED AREA, COMPLETE IN PLACE	LS	1	\$9,524.00		\$17,100.00	\$17,100.00	\$5,000.00	\$5,000.00
9 CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	CY	10	00	\$330.00	\$15.00	\$150.00	\$0.10	\$1.00
10 DEDUCTION ON STAGE II INLETS (TYPE 'C' AND'C-1') NOT CONSTRUCTED FOR THIS PROJECT, COMPLETE IN PLACE	EA	0	-\$50υ.υ0	\$0.00	-\$500.00	\$0.00	-\$500.00	\$0.00
11 EXTRA FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	JU	\$2.30	\$1,150.00	\$1.00	\$500.00	\$0.10	\$50.00
12 ADJUST MANHOLE RIM TO FINAL GRADE, (AS DIRECTED BY ENGINEE' COMPLETE IN PLACE	₹A		\$27.43	\$137.15	\$250.00	\$1,250.00	\$200.00	\$1,000.00
13 4" WHITE P.V.C. SLEEVES FOR IRRIGATION, COMPLETEACE		95	\$25.00	\$2,375.00	\$7.50	\$712.50	\$30.00	\$2,850.00
14 8" WHITE P.V.C. SLEEVES FOR IRRIGATION, COMPLETE IN	LF	120	\$38.00	\$4,560.00	\$21.90	\$2,628.00	\$45.00	\$5,400.00
DIVISION V - MISCELLANEOUS ITEMS SUBT				\$91,027.15		\$85,340.50		\$76,801.00
ALTERNATE BID NO. 1 ITEMS								
1 EXCAVATION WITHIN FUTUR OAD RI LAREAS ONSITE USING OFF ROAD TRUCKS, (0-0.5 MILE), INCLUDE. TRIPF 3, STOCKPILING STRIPPINGS, PLACEI T COMPACTION TO + STAD PROCTOR DENSITY, WITH MAXIMUI. LIFTS, AND RE 'PPL TION OF STRIPPING TO FINAL GRADED AREA, CO. STE IN PLAC.	CY	1700	\$0.00	\$0.00	\$7.12	\$12,104.00	\$10.50	\$17,850.00
2 6" CEMENT S "LI7" JB-GRADE, COMPLETE IN PLACE	SY	7069	\$0.00	\$0.00	\$4.42	\$31,244.98	\$6.00	\$42,414.00
3 CEMENT FOR SUBGRADE PREPARATION (10% CEMENT BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY OWNER, COMPLETE IN PLACE	TON	178	\$0.00	\$0.00	\$250.42	\$44,574.76	\$350.00	\$62,300.00
4 6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	6556	\$0.00	\$0.00	\$62.17	\$407,586.52	\$59.00	\$386,804.00
5 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	902	\$0.00	\$0.00	\$4.22	\$3,806.44	\$3.00	\$2,706.00
6 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3311	\$0.00	\$0.00	\$4.22	\$13,972.42	\$3.00	\$9,933.00
7 CONCRETE TRUCK WASHOUT AREA, INCLUDES INSTALLATION, MAINTENANCE AND REMOVAL, (LOCATION TO BE DIRECTED BY THE OWNER), COMPLETE IN PLACE	EA	1	\$0.00	\$0.00	\$350.00	\$350.00	\$500.00	\$500.00

BID OPENING DATE:

TABULATION DATE:

LJA JOB NO.

BID OPENING LOCATION: TABULATION BY:

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE THE WOODLANDS HILLS SECTION 43

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS

JULY 2, 2024

LJA ENGINEERING, INC.

A.CAROTHERS

EUA VOS NO.			1) BLAZEY CONSTRUCTION SERVICES LLC		2) MTEX CONSTR	HOTION I LO	a) DDINGIDA	RVIC LTD
TEM DECORPTION			•		*		· · · · · · · · · · · · · · · · · · ·	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
8 PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$0.00	\$0.00	\$3,500.00	\$3,5	\$2,000.00	\$2,000.00
9 REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	109	\$0.00	\$0.00	\$15.1	1,6と	15.00ن	\$1,635.00
10 CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING	LF	109	\$0.00	\$0.00	5.42	80.78	\$15.00	\$1,635.00
REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	-	100	ψ0.00	ψ0.00	.42	30.70	ψ13.00	ψ1,000.00
11 EXTRA TRAFFIC SIGNS, COMPLETE IN PLACE	EA	1	\$0.00	\$0.00	\$500	\$500.00	\$700.00	\$700.00
12 80MM, 4-INCH X 8-INCH TAN AND PEWTER HOLLAND STONE PARKWAY SERIES PAVERS AND PAVERSTONE, COMPLETE IN PLACE	SF	1078	\$0.00	.00	\$14.12	\$15,221.36	\$30.00	\$32,340.00
ALTERNATE BID NO. 1 ITEMS SUBTOTAL:				J.00		\$536,222.04		\$560,817.00
ALTERNATE BID NO. 2 ITEMS								
1 ROAD RIGHT OF WAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE	CY	14829	\$0.0		\$7.71	\$114,331.59	\$4.57	\$67,768.53
WITHIN THE PROJECT LIMITS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH								
MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE								
2 IMPORT FILL, INCLUDES HAUL FROM DESIGNATED STOCKPILE, USING ON ROAD TRUCKS, (2-2.5 MILE), PLACEMENT AND COMPACTION TO 95% STANDARD	CY	7892	\$0.00	\$0.00	\$17.21	\$135,821.32	\$16.00	\$126,272.00
PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL SITE GRADING, (AS								
DIRECTED BY ENGINEER), COMPLETE IN PLACE	6 7							
ALTERNATE BID NO. 2 ITEMS SUBTOTAL:				\$0.00		\$250,152.91		\$194,040.53
ALTERNATE BID NO. 3 ITEMS								
1 16-INCH P.V.C. WATER LINE, C-900, DR 18, CLASS 235, IN. DF DEPTI	LF	0	\$0.00	\$0.00	\$89.00	\$0.00	\$0.00	\$0.00
FITTINGS, BEDDING AND BACKFILL, IN LIEU OF WATER ITE 1, COMPLETE N PLACE								
2 12-INCH P.V.C WATER LINE, C-900, DR \$235, INCLUDEL DEPTHS, FITTINGS, BEDDING AND B. FILL, IN U.O. TER ITEM NO. 2, COMPLETE IN	LF	1982	\$62.00	\$122,884.00	\$70.00	\$138,740.00	\$83.00	\$164,506.00
PLACE								
3 16" AWWA BUTTERFLY VALVE DX, IN EU OF WATER ITEM NO. 4, COMPLETE	EA	0	\$6,477.00	\$0.00	\$6,750.00	\$0.00	\$0.00	\$0.00
IN PLACE								
4 12" AWWA TE VALVE & LIEU OF WATER ITEM NO. 5, COMPLETE IN	EA	8	\$3,458.00	\$27,664.00	\$3,885.00	\$31,080.00	\$4,500.00	\$36,000.00
PLACE								
5 TRENCH SAFE 1 EM, ALL DEPTH (INCLUDES LATERAL LEADS), IN LIEU OF	LF	1982	\$0.30	\$594.60	\$0.10	\$198.20	\$0.10	\$198.20
WATER ITEM NC. o, COMPLETE IN PLACE								
6 16" PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN	EA	0	\$1,433.00	\$0.00	\$1,500.00	\$0.00	\$0.00	\$0.00
PLACE, IN LIEU OF WATER ITEMS NO. 11, COMPLETE IN PLACE								
ALTERNATE BID NO. 3 ITEMS SUBTOTAL:				\$151,142.60		\$170,018.20		\$200,704.20
PIDDING SUMMARY								
BIDDING SUMMARY SUBTOTAL DIVISION I – WATER DISTRIBUTION SYSTEM				\$319,254.70		\$342,610.90		¢270 549 00
								\$370,548.90
SUBTOTAL DIVISION II - ONSITE SANITARY SEWER COLLECTION SYSTEM SUBTOTAL DIVISION III - OFFSITE SANITARY SEWER COLLECTION SYSTEM				\$255,742.51 \$107.337.85		\$260,524.30		\$289,030.52 \$116.331.30
SUBTOTAL DIVISION III - OFFSTE SANITARY SEWER COLLECTION SYSTEM SUBTOTAL DIVISION IV – DRAINAGE FACILITIES				\$107,337.85 \$206,115.05		\$90,790.40 \$221,272.00		\$116,321.30 \$223,109.10
SUBTOTAL DIVISION IV – DRAINAGE FACILITIES SUBTOTAL DIVISION V – MISCELLANEOUS ITEMS								\$223,109.10 \$76,801.00
SUBTOTAL DIVISION V - MISCELLANEOUS ITEMS				\$91,027.15		\$85,340.50		φ/0,001.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE THE WOODLANDS HILLS SECTION 43 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS JULY 2, 2024 LJA ENGINEERING, INC. A.CAROTHERS JULY 3, 2024 0474-0243 (9.2)

	1) B	LAZEY CONSTRUCTION SERVICES LLC	2) MTEX CONSTRUCTION, LLC	3) PRINCIPAL RVIC LTD
ITEM DESCRIPTION	UNIT QTY	UNIT COST TOTAL COST	UNIT COST TOTAL COST	UNIT COST TO LOCAL COST
TOTAL AMOUNT BASE BID		\$979,477.26	\$1,000,5′ J	\$1,075,810.82
ALTERNATE BID NO. 1 ITEMS				
TOTAL AMOUNT BASE BID		\$979,477.26	, 00,£ ¹0	\$1,075,810.82
SUBTOTAL ALTERNATE BID NO. 1 ITEMS		\$0.00	\$ 222.	\$560,817.00
TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 1 ITEMS		\$979,477.26	30.14	\$1,636,627.82
ALTERNATE BID NO. 2 ITEMS			T	
TOTAL AMOUNT BASE BID		\$979 ′	\$1,000,538.10	\$1,075,810.82
SUBTOTAL ALTERNATE BID NO. 2 ITEMS		\$0.00	\$250,152.91	\$194,040.53
TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 2 ITEMS		\$	\$1,250,691.01	\$1,269,851.35
ALTERNATE BID NO. 3 ITEMS				
TOTAL AMOUNT BASE BID		\$0~9,477.26	\$1,000,538.10	\$1,075,810.82
DEDUCT DIVISION I – WATER DISTRIBUTION SYSTEM ITEM NO.1		117,300.00 ب	-\$113,475.00	-\$127,500.00
DEDUCT DIVISION I – WATER DISTRIBUTION SYSTEM ITEM NO.2		-\$60,078.00	-\$73,780.00	-\$75,888.00
DEDUCT DIVISION I – WATER DISTRIBUTION SYSTEM ITEM NO.4		-\$32,305.00	-\$47,250.00	-\$50,974.00
DEDUCT DIVISION I – WATER DISTRIBUTION SYSTEM ITEM NO.5		-\$31,563.00	-\$34,965.00	-\$34,326.00
DEDUCT DIVISION I – WATER DISTRIBUTION SYSTEM ITEM NO.6		-\$698.70	-\$232.90	-\$232.90
DEDUCT DIVISION I – WATER DISTRIBUTION SYSTEM ITEM NO.11		-\$1,362.00	-\$1,500.00	-\$1,414.00
SUBTOTAL ALTERNATE BID NO. 3 ITEMS		\$151,142.60	\$170,018.20	\$200,704.20
TOTAL AMOUNT INCLUDING ALTERNATE BID NO. 3 ITEMS		\$887,313.16	\$899,353.40	\$986,180.12

 Page 7 of 13
 FRN F-1386

 LJA Engineering, Inc.
 1

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES

5) R CONSTRUCTION CIVIL, LLC

TO SERVE THE WOODLANDS HILLS SECTION 43
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128
CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS
JULY 2, 2024
JA ENGINEERING, INC.
A.CAROTHERS
JULY 3, 2024
0474-0243 (9.2)

4) CE BARKER LTD.

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DIVIS	ION I – WATER DISTRIBUTION SYSTEM						
1	16-INCH P.V.C. WATER LINE, C-900, DR 18, CLASS 235, INCLUDES ALL DEPTHS, FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1275	\$94.00	\$119,850.00	\$104.00	\$^32,600
2	12-INCH P.V.C. WATER LINE, C-900, DR 18, CLASS 235, INCLUDES ALL DEPTHS, FITTINGS, BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1054	\$60.00	\$63,240.00	\$73.00	\$7\ 2.0\
3	FIRE HYDRANT UNIT ALL DEPTHS (INCLUDES APPROPRIATE TEE, FITTINGS, 6° GATE VALVE AND BOX, AND LEAD PIPE), COMPLETE IN PLACE	EA	4	\$7,000.00	\$28,000.00	7,900.	\$31,60.00
4	16" AWWA BUTTERFLY VALVE & BOX, COMPLETE IN PLACE	EA	7	\$5,000.00	\$35,000	1400.00	\$51,800.00
5	12" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	9	\$3,550.00	00.0c \$	\$4,250.00	\$38,250.00
6	TRENCH SAFETY SYSTEM, ALL DEPTHS (INCLUDES ALL LATERAL LEADS), COMPLETE IN PLACE	LF	2329	\$1.00	\$2 , J	\$0.10	\$232.90
7	SHORT SIDE DOUBLE OR SINGLE SERVICE, INCLUDES, METER BOX, CURB STOP AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	9	١.00 ب	\$8,100.\	\$1,000.00	\$9,000.00
8	LONG SIDE DOUBLE OR SINGLE SERVICE, INCLUDES, METER BOX, CURB STOP AND ALL NECESSARY CONNECTORS AND TAPS, COMPLETE IN PLACE	EA	1	^0.	\$21,600.00	\$1,800.00	\$32,400.00
9	WET CONNECTION OF PROPOSED 12" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA		1,000.00	\$1,000.00	\$475.00	\$475.00
10	2" AUTOMATIC AIR RELEASE VALVE ASSEMBLY FOR 12" WATER I 'NE., COMPLETE IN PLACE	4	3	\$4,000.00	\$12,000.00	\$12,300.00	\$36,900.00
11	16" PLUG & CLAMP WITH 2" BLOW -OFF VALVE & BOX A MBLY, C MPLE 'N PLACE	E.	1	\$1,200.00	\$1,200.00	\$1,350.00	\$1,350.00
DIVIS	ION I – WATER DISTRIBUTION SYSTEM TOTAL:				\$324,269.00		\$411,549.90
DIVIS	ION II – ONSITE SANITARY SEWER COL C. SYSTEM						
1	STANDARD PRECAST 4' DIA. FR SAI AP MANHOLE, (0' – 8' DEPTH), INCLUDES PROTECTIVE INTE. ROOM ND A. JSTMENTS, COMPLETE IN PLACE	EA	11	\$5,500.00	\$60,500.00	\$5,000.00	\$55,000.00
2	STANDA PRECAST 5' DIAMETE INCLUDES OTECTIVE IN 200 OATING AND ADJUSTMENTS, COMPLETE IN PLACE	EA	8	\$6,500.00	\$52,000.00	\$7,300.00	\$58,400.00
3	EXTRA VERTIC 10' DEPTH), CO: LETE IN PLACE	VF	48.47	\$450.00	\$21,811.50	\$560.00	\$27,143.20
4	EXTRA VERTICAL DEPTH FOR 4' DIAMETER SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	5.58	\$350.00	\$1,953.00	\$275.00	\$1,534.50
5	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0'-8' CUT, INCLUDES CEMENT STABILIZED BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	776	\$50.00	\$38,800.00	\$33.00	\$25,608.00
6	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8'-12' CUT, INCLUDES CEMENT STABILIZED BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	367	\$55.00	\$20,185.00	\$34.00	\$12,478.00
7	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12'-16' CUT, INCLUDES CEMENT STABILIZED BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	412	\$60.00	\$24,720.00	\$35.00	\$14,420.00
8	8" PVC SEWER PIPE, ASTM D-3034, SDR 26 16'-20' CUT, INCLUDES CEMENT STABILIZED BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	195	\$65.00	\$12,675.00	\$53.00	\$10,335.00

FRN F-1386 Page 8 of 13

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE THE WOODLANDS HILLS SECTION 43 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS JULY 2, 2024 LJA ENGINEERING, INC. A.CAROTHERS JULY 3, 2024

5) R CONSTRUCTION CIVIL, LLC

4) CE BARKER LTD.

0474-0243 (9.2)

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
9	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 20'-24' CUT, INCLUDES CEMENT STABILIZED BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	54	\$85.00	\$4,590.00	\$79.00	\$4,266.
10	LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD ASTM D-3034, SDR 26 ALL DEPTHS, INCLUDES PIPE, CEMENT STABILIZED SAND AND BACKFILL, RISER, WYE, PLUG, MARKER, CLEANOUT, AND ANY NECESSARY FITTINGS, COMPLETE IN PLACE	LF	359	\$50.00	\$17,950.00	\$68.00	412
11	SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, ALL DEPTHS, INCLUDES PIPE, CEMENT STABILIZED SAND AND BACKFILL, RISER, WYE, PLUG, MARKER, CLEAN OUT AND ANY NECESSARY FITTINGS, COMPLETE IN PLACE	EA	21	\$1,650.00	\$34,650.00	800.u	\$37,800.00
12	TRENCH SAFETY SYSTEM, ALL DEPTHS, (INCLUDES LATERAL LEADS), COMPLETE IN PLACE	LF	2163	\$1.00	\$ 33.00	\$0.10	\$216.30
13	VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1000	\$0.0	\$1	\$2.00	\$2,000.00
14	4" PVC FORCE MAIN, C-900, DR 14, CLASS 305, RESTRAINED JOINT PIPE, INCLUDES RESTRAINED JOINT FITTINGS, BEDDING AND BACKFILL ALL DEPTHS, COMPLETE IN PLACE	LF	831	\$ 0	,0.00	\$32.00	\$26,592.00
15	REMOVE AND OFFSITE DISPOSAL OF EXISTING 4" PLUG AND CLAMP AND CONNECT PROPOSED 4" FORCE MAIN, ALL DEPTHS, COMPLETE IN PLACE	EA	1	`1,500.00	\$1,500.00	\$400.00	\$400.00
16	STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA		\$1,500.00	\$1,500.00	\$1,300.00	\$1,300.00
DIVIS	ION II – ONSITE SANITARY SEWER COLLECTION SYSTEM • JTAL:				\$328,247.50		\$301,905.00
	ION II – ONSITE SANITARY SEWER COLLECTION SYSTEM JIAL: ION III - OFFSITE SANITARY SEWER COLLECTION SYSTE.				\$328,247.50		\$301,905.00
DIVIS		EA	7	\$6,000.00	\$328,247.50 \$42,000.00	\$7,200.00	\$301,905.00 \$50,400.00
DIVIS	STANDARD PRECAST 5' DIAMETER OFFSITE SANITARY SEV MANHOLF (0'u' DEPTH), INCLUDES PROTECTIVE INTER R COATING AND A. STMF	EA VF	7 45.59	\$6,000.00 \$450.00		\$7,200.00 \$560.00	
DIVIS 1	STANDARD PRECAST 5' DIAMETER OFFSITE SANITARY SEL MANHOLF (0'u' DEPTH), INCLUDES PROTECTIVE INTER R COATING AND AL COMPLETE IN PLACE EXTRA VERTICAL DEPTH F 5' DIAME R SA RY SEWER MANHOLE (OVER		·		\$42,000.00		\$50,400.00
1 2 3	STANDARD PRECAST 5' DIAMETER OFFSITE SANITARY SEL MANHOLF (0'-, 0' DEPTH), INCLUDES PROTECTIVE INTER R COATING AND AL COMPLETE IN PLACE EXTRA VERTICAL DEPTH F 5' DIAME R SA RY SEWER MANHOLE (OVER 10' DEPTH), COMPLETE IN PL 5 8"PVC SEWER PIPE, ASTM D-30 SDR. 12'-16' CUT, INCLUDES CEMENT	VF	45.59	\$450.00	\$42,000.00 \$20,515.50	\$560.00	\$50,400.00 \$25,530.40
1 2 3 4	STANDARD PRECAST 5' DIAMETER OFFSITE SANITARY SEL MANHOLF (0'-, 0' DEPTH), INCLUDES PROTECTIVE INTER R COATING AND AL STMF COMPLETE IN PLACE EXTRA VERTICAL DEPTH F 5' DIAME R SA RY SEWER MANHOLE (OVER 10' DEPTH), COMPLETE IN PL 5 8"PVC SEWER PIPE, ASTM D-30 SDR. 12'-16' CUT, INCLUDES CEMENT STABIL! BEDDING AND BACK , CC .' LETE IN PLACE 8"PVC SEV PIPE, ASTM SDR 26, 20'-24' CUT, INCLUDES CEMENT	VF LF	45.59 436	\$450.00 \$60.00	\$42,000.00 \$20,515.50 \$26,160.00	\$560.00 \$48.00	\$50,400.00 \$25,530.40 \$20,928.00
1 2 3 4 5	STANDARD PRECAST 5' DIAMETER OFFSITE SANITARY SEL MANHOLF (0'-, 0' DEPTH), INCLUDES PROTECTIVE INTER R COATING AND AL STMF (0'-, 0' OMPLETE IN PLACE EXTRA VERTICAL DEPTH F 5' DIAME R SA RY SEWER MANHOLE (OVER 10' DEPTH), COMPLETE IN PL 5 8"PVC SEWER PIPE, ASTM D-30 SDR. 12'-16' CUT, INCLUDES CEMENT STABILIT BEDDING AND BACK , CC .' LETE IN PLACE 8"PVC SEV PIPE, ASTM SDR 26, 20'-24' CUT, INCLUDES CEMENT STABILIZED DING AND BACKFILL, COMPLETE IN PLACE TRENCH SAFE SIEM FOR OFFSITE SANITARY SEWER, ALL DEPTHS,	VF LF LF	45.59 436 277	\$450.00 \$60.00 \$85.00	\$42,000.00 \$20,515.50 \$26,160.00 \$23,545.00	\$560.00 \$48.00 \$93.00	\$50,400.00 \$25,530.40 \$20,928.00 \$25,761.00
2 3 4 5	STANDARD PRECAST 5' DIAMETER OFFSITE SANITARY SEL MANHOLF (0'-, u' DEPTH), INCLUDES PROTECTIVE INTER R COATING AND AL STMF (0'-, u' COMPLETE IN PLACE EXTRA VERTICAL DEPTH F 5' DIAME R SA RY SEWER MANHOLE (OVER 10' DEPTH), COMPLETE IN PL E 8"PVC SEWER PIPE, ASTM D-30 SDR: 12'-16' CUT, INCLUDES CEMENT STABIL!" BEDDING AND BACK , CC 'L'ETE IN PLACE 8"PVC SEV PIPE, ASTM SDR 26, 20'-24' CUT, INCLUDES CEMENT STABILIZED DING AN' BACKFILL, COMPLETE IN PLACE TRENCH SAFE JEM FOR OFFSITE SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT	VF LF LF	45.59 436 277 713	\$450.00 \$60.00 \$85.00 \$1.00	\$42,000.00 \$20,515.50 \$26,160.00 \$23,545.00 \$713.00	\$560.00 \$48.00 \$93.00 \$0.10	\$50,400.00 \$25,530.40 \$20,928.00 \$25,761.00 \$71.30
1 2 3 4 5 6 7	STANDARD PRECAST 5' DIAMETER OFFSITE SANITARY SEL MANHOLF (0'-, u' DEPTH), INCLUDES PROTECTIVE INTER R COATING AND AL STMF (0'-, u' DEPTH), INCLUDES PROTECTIVE INTER R COATING AND AL STMF (0'-, u' DEPTH), INCLUDES PROTECTIVE INTER R SA RY SEWER MANHOLE (OVER 10' DEPTH), COMPLETE IN PL E 8"PVC SEWER PIPE, ASTM D-30 SDR. 12'-16' CUT, INCLUDES CEMENT STABIL!" BEDDING AND BACK , CC L'ETE IN PLACE 8"PVC SEV PIPE, ASTM SDR 26, 20'-24' CUT, INCLUDES CEMENT STABILIZED DING AN' BACKFILL, COMPLETE IN PLACE TRENCH SAFE JEM FOR OFFSITE SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS,	VF LF LF LF	45.59 436 277 713	\$450.00 \$60.00 \$85.00 \$1.00	\$42,000.00 \$20,515.50 \$26,160.00 \$23,545.00 \$713.00	\$560.00 \$48.00 \$93.00 \$0.10 \$160.00	\$50,400.00 \$25,530.40 \$20,928.00 \$25,761.00 \$71.30
1 2 3 4 5 6 7 DIVIS	STANDARD PRECAST 5' DIAMETER OFFSITE SANITARY SEL MANHOLF (0'u' DEPTH), INCLUDES PROTECTIVE INTER R COATING AND AL STMF (0'u' COMPLETE IN PLACE EXTRA VERTICAL DEPTH F 5' DIAME R SA RY SEWER MANHOLE (OVER 10' DEPTH), COMPLETE IN PLACE 8"PVC SEWER PIPE, ASTM D-30 SDR 12-16' CUT, INCLUDES CEMENT STABILIT BEDDING AND BACK CC. L'ETE IN PLACE 8"PVC SEV PIPE, ASTM SDR 26, 20'-24' CUT, INCLUDES CEMENT STABILIZED DING AN' BACKFILL, COMPLETE IN PLACE TRENCH SAFE JEM FOR OFFSITE SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	VF LF LF LF	45.59 436 277 713	\$450.00 \$60.00 \$85.00 \$1.00	\$42,000.00 \$20,515.50 \$26,160.00 \$23,545.00 \$713.00 \$500.00	\$560.00 \$48.00 \$93.00 \$0.10 \$160.00	\$50,400.00 \$25,530.40 \$20,928.00 \$25,761.00 \$71.30 \$160.00

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE THE WOODLANDS HILLS SECTION 43 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS JULY 2, 2024 LJA ENGINEERING, INC.
A.CAROTHERS
JULY 3, 2024

5) R CONSTRUCTION CIVIL, LLC

4) CE BARKER LTD.

0474-0243 (9.2)

				4) CE BARREI	CLID.	3) K CONSTRUCTI	ON CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
2	24° RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1230	\$100.00	\$123,000.00	\$108.00	\$132,840.
3	30° RCP STORM SEWER, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	81	\$110.00	\$8,910.00	\$130.00	530.
4	STAGE I – MODIFIED REINFORCED CONCRETE TYPE 'C' INLET (5' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$2,700.00	\$13,500.00	\$2,46	70
5	STAGE II – MODIFIED REINFORCED CONCRETE TYPE 'C' INLET (5' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	5	\$1,800.00	\$9,000.00	,000.00	\$15,000.00
6	STAGE I – MODIFIED REINFORCED CONCRETE TYPE 'C-1' INLET (10' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,880.00	\$5.	\$2,400.00	\$4,800.00
7	STAGE II – MODIFIED REINFORCED CONCRETE TYPE 'C-1' INLET (10' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$1, 00	\$3.840.0	\$3,300.00	\$6,600.00
8	REINFORCED CONCRETE TYPE "C' MANHOLE FOR 42" STORM SEWER AND SMALLER WITH REINFORCED CONCRETE TYPE "E' TOP, ONE SIDE OPEN, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$3,30	\$6,600.00	\$3,700.00	\$7,400.00
9	EXCAVATION AND GRADING OF EXTREME EVENT OVERFLOW SWALE, INCLUDE STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APTION OF STRIPPINGS, COMPLETE IN PLACE	LF	Zì	\$15.00	\$3,255.00	\$5.00	\$1,085.00
10	OUTFALL SLOPE PROTECTION NO. 1 FOR 30" RCP STOTWER, INCLU. SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP. AND JTEX. FABRIC, COMPLETE IN PLACE		2	\$2,500.00	\$5,000.00	\$6,100.00	\$12,200.00
11	EXCAVATION AND GRADING OF OUTF SWALE, 3:1 MINIM: 3IDF - E -2' BOTTOM, (ALL DEPTHS), INCLUDES H, STOCKPILING STRIPPINGS, P'ACEMEI PROCTOR DENSITY, WITH MIMM 8' STRIPPINGS, COMPLETE IN 1 TE	LF	28	\$7.94	\$222.32	\$45.00	\$1,260.00
12	TRENCH SAFETY SYSTEM, ALL . THS. DMPLETE IN PLACE	LF	1311	\$1.00	\$1,311.00	\$0.10	\$131.10
13	STORM V. FR POLLUTION "RO". TION PLAN COMPLIANCE, INCLUDES GENERAL "RCE CONTH. ".D ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOS. COMPL" F IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00
14	REMOVE AND confidence of Existing 24" STORM SEWER, ALL DEPTHS, COMPLETE IN PLACE	LF	121	\$40.00	\$4,840.00	\$28.00	\$3,388.00
15	BREAK INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSED 24" STORM SEWER, INCLUDES APPURTENANCES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$700.00	\$700.00
	ION IV – DRAINAGE FACILITIES SUBTOTAL:				\$233,738.32		\$249,434.10
DIVIS	ION V – MISCELLANEOUS ITEMS						
1	WET SAND CONSTRUCTION (AS PER DETAIL), (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE OWNER), COMPLETE IN PLACE	LF	1000	\$10.00	\$10,000.00	\$10.00	\$10,000.00
2	DEWATERING (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE OWNER), COMPLETE IN PLACE	LF	1000	\$40.00	\$40,000.00	\$40.00	\$40,000.00

Page 10 of 13 FRN F-1386 LJA Engineering, Inc.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES

5) R CONSTRUCTION CIVIL, LLC

TO SERVE THE WOODLANDS HILLS SECTION 43	3
MONTGOMERY COUNTY MUNICIPAL UTILITY DIS	STRICT NO. 1:
CITY OF WILLIS, MONTGOMERY COUNTY, TEXA	S
JULY 2, 2024	
LJA ENGINEERING, INC.	
A.CAROTHERS	
JULY 3, 2024	
0474-0243 (9.2)	

4) CE BARKER LTD.

				4) CE BARKER LTD.		5) R CONSTRUCTION CIVIL, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
3	EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.0
4	BLOCK SODDING, PER SECTION 12 SPECIFICATION (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	SF	500	\$0.30	\$150.00	\$0.30	\$150
5	BROADCAST SEEDING OF RESERVES, COMPLETE IN PLACE	AC	3	\$650.00	\$1,950.00	\$650 0	\$1 1.00
6	STRIPPING MINIMUM OF 4-INCHES OF SURFACE MATERIAL AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$7,500.00	\$7,500.00	\$7,500	\$. J
7	INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THIS DEVELOPMENT (AT WRITTEN DIRECTION BY THE OWNER), COMPLETE IN PLACE	AC	1	\$6,000.00	\$6,000.00	,000.00	\$6,000.00
8	HAUL UTILITY SPOILS TO ONSITE DESIGNATED STOCKPILE SITE, USING OFF ROAD TRUCKS, (0 - 0.5 MILE), INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS TO FINAL GRADED AREA, COMPLETE IN PLACE	LS	1	\$5,000.00	\$Ł	110,000.00	\$10,000.00
9	CEMENT STABILIZED SAND (TO BE USED ONLY AS DIRECTED BY THE OWNER), COMPLETE IN PLACE	CY	10	\$31	\$300.00	\$22.00	\$220.00
10	DEDUCTION ON STAGE II INLETS (TYPE 'C' AND'C-1') NOT CONSTRUCTED FOR THIS PROJECT, COMPLETE IN PLACE	EA	0	-\$500.00	\$0.00	-\$500.00	\$0.00
11	EXTRA FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	ىاد	\$2.00	\$1,000.00	\$2.00	\$1,000.00
12	ADJUST MANHOLE RIM TO FINAL GRADE, (AS DIRECTED BY ENGINEE' COMPLETE IN PLACE	₹A		\$100.00	\$500.00	\$150.00	\$750.00
13	4" WHITE P.V.C. SLEEVES FOR IRRIGATION, COMPLETE LACE		95	\$25.00	\$2,375.00	\$40.00	\$3,800.00
14	8" WHITE P.V.C. SLEEVES FOR IRRIGATION, COMPLETE IN	LF	120	\$35.00	\$4,200.00	\$65.00	\$7,800.00
DIVISION V - MISCELLANEOUS ITEMS SUBT					\$82,975.00		\$93,170.00
ALTE	ERNATE BID NO. 1 ITEMS						
1	EXCAVATION WITHIN FUTUR. DAD RI EXCAVATED MATERIAL TO DE NATEL L. AREAJONSITE USING OFF ROAD TRUCKS, (0-0.5 MILE), INCLUDE. TRIPF PLACEM* TOOMPACTION TO +5 ST/JARD PROCTOR DENSITY, WITH MAXIMUI. LIFTS, AND RE PPL TION OF STRIPPING TO FINAL GRADED AREA, CO. FTE IN PLAC.	CY	1700	\$6.00	\$10,200.00	\$7.00	\$11,900.00
2	6" CEMENT S 'L17' JB-GRADE, COMPLETE IN PLACE	SY	7069	\$6.00	\$42,414.00	\$4.25	\$30,043.25
3	CEMENT FOR SUJGRADE PREPARATION (10% CEMENT BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY OWNER, COMPLETE IN PLACE	TON	178	\$240.00	\$42,720.00	\$290.00	\$51,620.00
4	6" REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	SY	6556	\$53.00	\$347,468.00	\$59.00	\$386,804.00
5	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	902	\$3.15	\$2,841.30	\$4.00	\$3,608.00
6	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	3311	\$3.15	\$10,429.65	\$4.00	\$13,244.00
7	CONCRETE TRUCK WASHOUT AREA, INCLUDES INSTALLATION, MAINTENANCE AND REMOVAL, (LOCATION TO BE DIRECTED BY THE OWNER), COMPLETE IN PLACE	EA	1	\$250.00	\$250.00	\$500.00	\$500.00

FRN F-1386 Page 11 of 13

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE THE WOODLANDS HILLS SECTION 43

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS

JULY 2, 2024

LJA ENGINEERING, INC. A.CAROTHERS

JULY 3, 2024 0474-0243 (9.2)

			-	()			
			4) CE BARKER LTD.			5) R CONSTRUCTION CIVIL, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
8	PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$3,500.00	\$3,500.00	\$5,800.00	\$5,800.°
9	REINFORCED CONCRETE PAVING HEADER, COMPLETE IN PLACE	LF	109	\$35.00	\$3,815.00	\$22.00	\$ 98.0
10	CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING REINFORCED CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	109	\$25.00	\$2,725.00	\$4.	70
11	EXTRA TRAFFIC SIGNS, COMPLETE IN PLACE	EA	1	\$750.00	\$750.00	250.00	\$250.00
12	80MM, 4-INCH X 8-INCH TAN AND PEWTER HOLLAND STONE PARKWAY SERIES PAVERS AND PAVERSTONE, COMPLETE IN PLACE	SF	1078	\$12.00	\$12,92	75.00	\$26,950.00
ALTE	RNATE BID NO. 1 ITEMS SUBTOTAL:				\$480,		\$537,913.25
ALTE	RNATE BID NO. 2 ITEMS						
1	ROAD RIGHT OF WAY EXCAVATION TO BE USED FOR FILL TO FINAL GRADE WITHIN THE PROJECT LIMITS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	14829	.97	\$58,871.	\$4.40	\$65,247.60
2	IMPORT FILL, INCLUDES HAUL FROM DESIGNATED STOCKPILE, USING ON ROAD TRUCKS, (2-2.5 MILE), PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND FINAL SITE GRADING, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	1892	\$22.24	\$175,518.08	\$15.00	\$118,380.00
ALTE	RNATE BID NO. 2 ITEMS SUBTOTAL:				\$234,389.21		\$183,627.60
ALTE	RNATE BID NO. 3 ITEMS						
1	16-INCH P.V.C. WATER LINE, C-900, DR 18, CLASS 235, IN DF L DEPTH FITTINGS, BEDDING AND BACKFILL, IN LIEU OF WATER ITE1, COMPLETN PLACE	LF	0	\$100.00	\$0.00	\$0.00	\$0.00
2	12-INCH P.V.C WATER LINE, C-900, DR $$\tt C^3S$ 235, INCLUDE $\tt LL$ DEPTHS, FITTINGS, BEDDING AND B. $'$ 'FILL, IN $\tt U$ G. 'TER ITEM NO. 2, COMPLETE IN PLACE	LF	1982	\$72.00	\$142,704.00	\$68.00	\$134,776.00
3	16" AWWA BUTTERFLY VALVE . $$ 7X, IN $$ EU OF WATER ITEM NO. 4, COMPLETE IN PLACE	EA	0	\$5,500.00	\$0.00	\$0.00	\$0.00
4	12" AWWA TE VALVE & LIEU OF WATER ITEM NO. 5, COMPLETE IN PLACE	EA	8	\$3,850.00	\$30,800.00	\$4,000.00	\$32,000.00
5	TRENCH SAFE , i.e.M, ALL DEPTH (INCLUDES LATERAL LEADS), IN LIEU OF WATER ITEM NC. 0, COMPLETE IN PLACE	LF	1982	\$0.01	\$19.82	\$0.10	\$198.20
6	16" PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, COMPLETE IN PLACE, IN LIEU OF WATER ITEMS NO. 11, COMPLETE IN PLACE	EA	0	\$1,250.00	\$0.00	\$0.00	\$0.00
ALTE	RNATE BID NO. 3 ITEMS SUBTOTAL:				\$173,523.82		\$166,974.20
BIDD	ING SUMMARY						
SUBT	OTAL DIVISION I – WATER DISTRIBUTION SYSTEM				\$324,269.00		\$411,549.90
SUBT	OTAL DIVISION II – ONSITE SANITARY SEWER COLLECTION SYSTEM				\$328,247.50		\$301,905.00
SUBT	OTAL DIVISION III - OFFSITE SANITARY SEWER COLLECTION SYSTEM				\$114,933.50		\$123,525.70
SUBT	OTAL DIVISION IV – DRAINAGE FACILITIES				\$233,738.32		\$249,434.10
SUBT	OTAL DIVISION V - MISCELLANEOUS ITEMS				\$82,975.00		\$93,170.00

FRN F-1386 Page 12 of 13

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES & PAVING AND APPURTENANCES TO SERVE THE WOODLANDS HILLS SECTION 43 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 128A CITY OF WILLIS, MONTGOMERY COUNTY, TEXAS JULY 2, 2024 LJA ENGINEERING, INC. A.CAROTHERS JULY 3, 2024

				4) CE BARKER LTD.		5) R CONSTRUCTION CIVIL, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
TOTAL AMOUNT BASE	E BID				\$1,084,163.32		\$1,179,584.
ALTERNATE BID NO. 1	1 ITEMS						
TOTAL AMOUNT BASE	BID				\$1,084,163.32		\$1,1 584.
SUBTOTAL ALTERNAT	TE BID NO. 1 ITEMS				\$480,048.95		\$53) 3.25
TOTAL AMOUNT INCL	UDING ALTERNATE BID NO. 1 ITEMS				\$1,564,212.27		\$1,. \5
ALTERNATE BID NO. 2							
TOTAL AMOUNT BASE	E BID				\$1,084,162		\$1,179,584.70
SUBTOTAL ALTERNAT	TE BID NO. 2 ITEMS				\$2 59.21		\$183,627.60
TOTAL AMOUNT INCL	UDING ALTERNATE BID NO. 2 ITEMS				1,31દ '		\$1,363,212.30
ALTERNATE BID NO. 3							
TOTAL AMOUNT BASE	E BID				\$1,084 133.3∠		\$1,179,584.70
DEDUCT DIVISION I - Y	WATER DISTRIBUTION SYSTEM ITEM NO.1				ه,850.00		-\$132,600.00
DEDUCT DIVISION I -	WATER DISTRIBUTION SYSTEM ITEM NO.2				-\$63,240.00		-\$76,942.00
DEDUCT DIVISION I -	WATER DISTRIBUTION SYSTEM ITEM NO.4				-\$35,000.00		-\$51,800.00
DEDUCT DIVISION I -	WATER DISTRIBUTION SYSTEM ITEM NO.5				-\$31,950.00		-\$38,250.00
DEDUCT DIVISION I -	WATER DISTRIBUTION SYSTEM ITEM NO.6				-\$2,329.00		-\$232.90
DEDUCT DIVISION I -	WATER DISTRIBUTION SYSTEM ITEM NO.11				-\$1,200.00		-\$1,350.00
SUBTOTAL ALTERNAT	TE BID NO. 3 ITEMS				\$173,523.82		\$166,974.20
TOTAL AMOUNT INCL	UDING ALTERNATE BID NO. 3 ITEMS				\$1,004,118.14		\$1,045,384.00

0474-0243 (9.2)

Page 13 of 13 FRN F-1386 LJA Engineering, Inc.